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QUESTION 1

With which WLS license is WLS Management Pack EE included?
A. WebLogic Suite

B. WebLogic Server Standard Edition

C. WebLogic Server Enterprise Edition

D. WebLogic Server EE or WebLogic Suite

E. WLS Management Pack is not included in any of the WLS packs

Correct Answer: C

QUESTION 2

Consider the following code:

NamedCache namedCache = CacheFactory.getCache
(“budgies™)

Stock stock = (Stock) namedCache.get
stock.increment (1) ;
namedCache .put (“budgies”, stock);

{(“stock")

If the initial stock amount was 15, and 5 different clients (in different JVMs) attempted to execute the same code

simultaneously, what would be the resulting level of stock?

A. 20, because Coherence does implicit locking

B. 15, because a concurrency control exception will be thrown
C. 16, because of the lack of concurrency control

D. undefined, because of the lack of concurrency control

Correct Answer: C

QUESTION 3

Which is a valid reason for using Coherence Elastic Data?

A. You want to cache more that the total amount of RAM on your systems.

B. You want to extend your cluster across a WAN.
C. Data must be persisted to disk to ensure fault tolerance.

D. You want to store data on very large heaps.
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Correct Answer: A

http://www.oracle.com/technetwork/tutorials/tutorials-1694910.pdf

QUESTION 4

You plan to deploy your Coherence application to a new production environment. You want to ensure that the new
environment supports multicast, and that all of the machines are connected to the same physical switch for optimal
performance. What two tools will help confirm that the new environment satisfies both criteria? (Choose two.)

A. Coherence MulticastTest

B. Coherence DatagramTest

C. Coherence Console

D. Coherence CohQL Command-Line

Correct Answer:. AD

http://www.oracle.com/technetwork/middleware/coherence/learnmore/oracle-coherence- 12c-deployment3049521.pdf

QUESTION 5

With which three activities does Virtual Assembly Builder help? (Choose three.)
A. maintaining flexibility for developers

B. reducing runtime errors

C. enabling full access to infrastructure

D. creating a standardized model for IT

E. automating provisioning of the entire application topology

Correct Answer: ADE
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